Correction of the 2" Term
Enalish Exam

I Comprehension: (6pts)

1. Thetextis taken from- b)- a newspaper

2. Give atitle to the text: -: Computer Technology.

3. Say whether these statements are true or false: _

a- Computers technology is widespread nowadays: True
b- Computers help students be more sociable: False
c- Computers use can be harmful: True
4. Answer the following questions according to the text: _

a- Advantages of the computer:
-Children could stay at home and study through their PC’s / - Helps people to solve many issues.

b- The drawbacks of internet:
- Children become dependent on internet. /- Their social relations are no more active.

c- The solution suggested by the author is to guide them to the right path.

Il Text Exploration: (8pts)

1. What or who do the underlined words refer to? _
Their (§1): children We (§3): parents and educators

2. Find in the text words that are opposites to: _
a- useless (§2) = useful b- Best (§2) =worst

3. Join the following sentences with the given connector :
e Parents do not supervise their children. Therefore, they get lost.
e Thomas Edison is a French inventor who invented the lamp.

4. What is the meaning expressed through the following modal verbs: _
-This silence must hide something: Deduction.
-Would you like to quit your job? Request
-May god preserves you: Wish
- 1 will bring it to you tomorrow: Promise

IIT Written Expression: (6pts)
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